TPV1100-inox”
Art. Nr. 110397

____________ 100



(O

TPV1100-inox-
Art. Nr. 110397

POS. STUCKZAHL  ARTNR. BEZEICHNUNG
1 1 407478 MOTORTRAGER
2 1| 409113 LAUFRAD
3 1 407609 GRIFF
4 1 409114 MOTOR KPL.
5 R 407481 KONDENSATOR
6 2 | 407456 DICHTUNGSHULSE
7 1 407482 KLEMMBUCHSE
8 1 405934 KABEL
9 2 407483 BLINDMUTTER M4
10 2 407484 SCHEIBE
11 1 407485 DECKEL
12 1 409115 PUMPENGEHAUSE
13 1 406804 SCHWIMMERSCHALTER
14 1 407463 KLEMME
| 15 1 407487 DICHTUNG
16 1 407488 DICHTUNG
17 1 407489 DICHTUNG
18 1 407490 DECKEL
19 2 407491 SCHRAUBE
20 1 407492 FUBPLATTE
21 ] 6 407493 SCHRAUBE M5x8
22 | 3 | 407494 TEFLONSCHEIBE
23 1 | 407495 OLSCHRAUBE |
24 1 | 407496 MUTTER
|25 6 407497 SCHRAUBE |
26 6 407498 SCHRAUBE M5x16
27 3 407499 SCHEIBE I
28 3 700106 MUTTER M5
29 1 407600 L AUFRADABDECKUNG
30 O 407601 BUCHSE
31 K 407602 HEBELSCHRAUBE
32 1 407603 BUCHSE 4% TS
|33 K 407604 3-LOCHERDICHTUNG |
34 1 410105 [EFLONSCHEIBE ] ]
35 [ | 407605 KOMBINIPPEL |
36 1 410115 _KABELKLEMMEBEFESTIGUNG
37 1 410116 BEFESTIGUNGSMUTTER e

1{}8 - ———



